
WJEC 2018 Online Exam Review

GCSE Mathematics - Numeracy Unit 2 Foundation

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1a 3907 0.7 0.4 1 72.7 97.3

1b 3665 1.7 1.2 3 57.1 91.2

2ai 3958 0.8 0.4 1 84.2 98.5

2aii 3773 1.1 0.9 2 54.4 93.9

2b 2956 0.6 0.8 2 28.7 73.6

3a 3948 1 0.2 1 96.3 98.3

3b 3870 0.8 0.5 1 75.1 96.3

3c 3821 0.7 0.5 1 70.5 95.1

4a 3775 0.8 0.4 1 76.6 94

4b 3662 0.6 0.5 1 64.9 91.2

4c 3452 1.7 1.2 3 55.3 85.9

5 3857 4.1 2.4 7 58.6 96

6ai 3838 0.8 0.4 1 80.9 95.5

6aii 3745 1.4 0.9 2 71.1 93.2

6aiii 3648 0.8 0.4 1 79.7 90.8

6b 3873 0.7 0.9 2 36.4 96.4

6c 3198 0.8 0.9 2 37.9 79.6

7a 3898 0.4 0.5 1 42 97

7b 2982 0.4 0.9 3 12.4 74.2

7c 3392 0.6 0.8 2 30.3 84.4

8 2922 1.9 1.6 4 48.6 72.7

9 3593 3.5 2.6 6 58.9 89.4

10a 3816 0.9 0.3 1 91.9 95

10b 3793 0.4 0.5 1 37.9 94.4

10c 3607 0.6 0.5 1 60.6 89.8

10d 3776 0.3 0.5 1 32.7 94

11a 3127 0.9 1.2 3 30.5 77.8

11b 2889 1.1 1.4 4 28.3 71.9

12 2971 1.3 1.8 6 21.4 74
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5. (income from sales) 
    (small 14 × 8.25 = £)115.5(0) 
    (medium 9 ×19.95 = £)179.55 
    (large 5 × 35 = £)175 
                                            
                                     
                                                  
                                                    (£)470.05 
 
 
 
 
 
(profit)  470.05 – 225 
                                   
(£) 245.05 
 
 
 
 
 
Organisation and communication 
 
 
 
 
 
 
 
 
 
 
Accuracy of writing 
 


 
 


B2 
 
 
 
 


B1 
 
 
 
 


 
M1 


 
A1 


 
 


 
 
 
OC1 


 
 
 
 
 
 
 
 
 


 
W1 


 
 
 


 
 
Sight of all three correct evaluations. 
B1 for any two correct evaluations  
or B1 for 
14 × 8.25 + 9 ×19.95 + 5 × 35 (=470.05) 
 
May not be seen but implied. 
FT provided at least one correct 
calculation seen in a sum of three 
amounts. 
Answer of 470 implies B2 B0 
 
FT ‘their (£)470.05’  
 
FT for a loss if indication of loss. 
Mark final answer 
If B1 awarded but 470 used in profit 
calculation, award M1 A0 for answer of 
(£)245 
 
For OC1, candidates will be expected to: 
• present their response in a structured 
way 
• explain to the reader what they are doing 
at each step of their response 
• lay out their explanations and working in 
a way that is clear and logical 
• write a conclusion that draws together 
their results and explains what their 
answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, 
punctuation and grammar 
• use correct mathematical form in their 
working 
• use appropriate terminology, units, etc. 
 


 
  












Sticky Note

B2 B0 M1(FT) A0 OC0 W1
The candidate has taken £470.05 to be £470.5, possibly due to non calculator methods being used.
Communication is penalised as they fail to explain to the reader what they are doning at each stage of the calculation.












Sticky Note

B2 B1 M1 A1 Full marks for the Mathematics involved.
OCW scores 1 mark out of 2 since the profit calculation is not shown and the candidate fails to communicate what they are doing at each step of the response.












Sticky Note

B1(Sight of TWO correct evaluations of sales figures)
B1 (FT) Follow through for correct total.
M0 A0 No attempt to calculate profit
OCW scores zero
Non calculator methods and a failure to organise and communicate is frequently seen amongst weaker candidates.
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5.	 In this question, you will be assessed on the quality of your organisation, communication and 
accuracy in writing.


	 Mike makes and sells three different designs of Welsh love spoons.


Small Medium Large


	 The table below shows Mike’s sales figures for last September.


Number sold Selling price for 
each love spoon


Small 14 £8.25


Medium 9 £19.95


Large 5 £35.00


	 It cost Mike £225 to make all these love spoons.


	 What is Mike’s profit from the sale of these love spoons?


	 You must show all your working.	 [5 + 2 OCW]
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6. (a) (i) (£)   139.5(0) 
 


B1  


(a) (ii) 23 × 10.60 – 21.39  
          (£)222.41 
 


M1 
A1 


Treat 19 × 10.60 – 21.39 = (£)180.01 as a 
misread 
 


(a) (iii) (£222.41− £139.50=) 
                              (£)82.91 
 


B1 FT ‘their £222.41' and 'their £139.50'. 
 


(b) (Total hours worked) 5 + 5 +4½ +5½ 
  
20 (hours) AND Qualified box ticked. 
 


M1 
 


A1 


 
 
Accept a convincing reasoned argument 
for 20 (hours) and Trainee. e.g.  lunch 
breaks each day means they actually 
work for less than 19 hours. 
 
If no marks, award SC1 for one 
identifiable slip in hours worked leading 
to a consistent conclusion.  
 


(c) 8/100 × 1760 
                         (£) 140.8(0) 


M1 
A1 


 
 


Or equivalent method 
Ignore subsequent working such as  
(£)1760 – (£)140.8(0) = (£)1619.2(0)  
Or (£)1760 + (£)140.8(0) = (£)1900.8(0) 
M1 A0 for unsupported or correctly 
supported answer of (£)1619.2(0) or 
(£)1900.8(0)  
 


7(a) 180 B1  
 


7(b) Angle measured 135° ± 2° 


    2/5 × 135°  


 
                        = 54(°) 
 


B1 
M1 


 
A1 


 


 
FT for angles other than135° ± 2° 
provided < 360° 
Accept angles in the range 53(°) to 55(°) 
 


7(c) 720 - 0.45×720   or   0.55 × 720 
                                       
                                            396 (males) 


M1 
 


A1 
 


For complete method 
 
 
If no marks, award SC1 for sight of 324 
(females) 


8 (a) (Fresh water charge £)  
                                       25.25 × 1.08  
                                              (= 27.27) 
(Waste water charge £) 22.31 × 1.70  
                                               (=37.927) 
 
(Total bill £27.27 + £37.927 = £) 
                       65.19(7)  or 65.2(0) 
 
Undercharged (by) 
                (£)6.4(0) or (£)6.39(7) 
 
 
 
 
 
 


M1 
 


 
M1 


 
 


A1 
 
 


B1 
 


 
 
 
 
 
 
CAO 
 
 
Must state under charged and the 
amount, however accept –(£)6.4(0) or  
–(£)6.39(7) 
FT difference between ‘their derived total’ 
and £58.80 with appropriate conclusion, 
over or under charged 
 


  












Sticky Note

A common mistake was to interpret 30 minutes as a decimal so that 4 hours 30 minutes is taken to be 4.3.












Sticky Note

This candidate uses decimals but clearly understands that the 4.30 represents 4 hours and 30 minutes. Hence the correct answer is obtained and M1 A1 is awarded.
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	 (b)	 Ashton is a member of staff who works the same hours every week.


Day Start time Finish time


Mon 10 a.m. 3 p.m.


Wed 10 a.m. 3 p.m.


Fri 2 p.m. 6:30 p.m.


Sun 10 a.m. 3:30 p.m.


		  Use this information to decide if Ashton is a trainee or a qualified member of staff.


		  Put a tick in the correct box
		  Give a reason for your answer.
		  You must show all your working.	 [2]


Trainee                   Qualified


	


	


	


	


	


	 (c)	 Elena is a manager at the department store who is paid £1760 every month.


		  She invests 8% of her monthly pay into a pension fund.


		  How much does she invest into her pension fund every month?	 [2]
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